


 

 

(OHFWURQLF ,Q-WH[W &LWDWLRQV 

 
:HEVLWH ZLWK 2QH $XWKRU �$3$ �����  

�7KLV LV DQ H[DPSOH VHQWHQFH� �6PLWK� ������ 

-2U- 
6PLWK ������ VWDWHV WKDW ³WKLV LV DQ H[DPSOH VHQWHQFH�´ 
 
:HEVLWH ZLWK 7ZR $XWKRUV �$3$ ���� %+ �����  

³7KLV LV DQ H[DPSOH VHQWHQFH´ �6PLWK 	 :LOOLDPV� ������ 

-2U- 
$FFRUGLQJ WR 6PLWK DQG :LOOLDPV ������� ³7KLV LV DQ H[DPSOH VHQWHQFH�´ 
 
:HEVLWH ZLWK PRUH WKDQ 7ZR $XWKRUV �$3$ ���� %+ �����  

:KHQ WKHUH DUH WKUHH WR �� DXWKRUV IRU D ZRUN� OLVW RQO\ WKH ILUVW VXUQDPH DQG HW DO� LQ SODFH RI
WKH VXEVHTXHQW DXWKRUV� 

³7KLV LV DQ H[DPSOH VHQWHQFH´ �6PLWK HW DO�� ������ 
 
:HEVLWH ZLWK D &RUSRUDWH $XWKRU �$3$ �����  

³7KLV LV DQ H[DPSOH VHQWHQFH´ �7KH 2UJDQL]DWLRQ *URXS� ������ 
 
:HEVLWH ZLWK 1R $XWKRU �$3$ �����  

8VH WKH ILUVW WZR ZRUGV RI WKH ZHESDJH RU DUWLFOH WLWOH ZKHQ WKHUH LV QR DXWKRU LQIRUPDWLRQ� 

³7KLV LV DQ H[DPSOH VHQWHQFH´ ��:HESDJH 1DPH�� ������ 
 

'LUHFW 4XRWDWLRQ �$3$ �����  

)RU D GLUHFW TXRWDWLRQ� JLYH WKH SDJH QXPEHU RU QXPEHUV ZLWK WKH SDUHQWKHWLFDO LQIRUPDWLRQ� ,I
SDJH QXPEHUV DUH QRW XVHG� SDUDJUDSK DQG�RU VHFWLRQ QXPEHUV FDQ EH VXEVWLWXWHG� 

³7KLV LV DQ H[DPSOH VHQWHQFH´ �6PLWK� ����� SS� ����-������ 

³7KLV LV DQ H[DPSOH VHQWHQFH´ �6PLWK� ����� SDUD� ���� 

%ORFN 4XRWH 

+DQGRXW EDVHG RQ 7KH 3XEOLFDWLRQ 0DQXDO RI WKH $PHULFDQ 3V\FKRORJLFDO $VVRFLDWLRQ ��WK HGLWLRQ� 


